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IHacnopr ¢oHA2 OLIEHOYHBIX CPEICTB M0 AMCHUILIMHE
b1.0.01 MHocTpaHHbIii (AHTJINIACKUI) A3BIK

No Kontposnmpyemsie pa3iessl (TEMBbI) Konrponmpyenmeie OuenouHbie
KOMIIETEHIINH (WM €€ cpelncTBa
n/n JUCIUATLINHEL
YJaCTH)
1. Texcr «Mechanization of
Agriculturex» MIEPEBO/I,
1 i YK-4
2. Economic Importance of cobecenoBaHue
Mechanization.
1. Texcr «Modern Agricultural
2 Machinerys * YVK-4 JOKJIa/1-TIPE3CHTALIHS
1. Tekcr «Foreign and Russian Tractor IIEPEBO/I,
3 VK-4
Manufacturersy cobecemoBanme
4 1. Texct «Farm Machines in Russia, VK-4 OKITA- D e3CHTALILS
Great Britain and USA»* AOKIAA-TIP H
1. Tekcr «Advantages and KPYTJIBIA CTOJ
5 disadvantages of farm machines in YK-4
Russia, Great Britain and USA» *
6 1. Texct «History of Tractor Industry» * YK-4 JOKJIa/I-IIPE3EHTaMsA
1. Tekcr «Classification of Tractors. HePeBo
7 The Plow. Cultivators. Harrows VK-4 PEBOIL,
. cobecenoBanue
Harvesters. Combines»
1. Tekct «Tractor systemsy
The Fuel Systemy. HebeBo
8 Ignition System. YK-4 Co6e£ OB’;’HHe
Lubrication System. A
Cooling Controly»
9 Hrorosoe TectupoBaHue YK-4 TECTUPOBAHHE




TpebGoBanus k pe3yaprataM ocBoeHus nucuuiuiiabl b1.0.01 WHocTpanHblii (aHTIMACKUI) I3bIK

pabOTHUKOB B HaIleH
CTpaHe U B aHIJIO-
TOBOPSIINAX CTpaHaX.

MIPHOPUTETOB;
- BECTU HayuyHYyI0 Oeceny,
JMCKYCCHH U TIOJIEMUKH Ha
WHOCTPaHHOM SI3BbIKE C
HCIOJIb30BAHUEM
npodeccroHanbHOI
TEPMUHOJIOTHN U
BBIpQKEHUI pEeueBOro
ITHKETA;

- IEPEBOIUTH TEKCThI
o0mrero u
npo¢eCcCHOHATBLHOTO
WHOSI3BIYHOr'0 OOIIEHHN C
W3BJICUEHUEM OOIIIeH U
CIIelIMaIbHON

Ne UHpekc CoiepKaHue KOMIICTCHIIHH B pesynbrare u3ydeHus yaeOHOM AUCIUIUIMHBI 00yYarOIIUECs TOTDKHBI:
/71| KOMIIETCHIMH (WM ee yacTH) 3HATE VYMeTh Buiajers
Croco0OeH IpUMEeHSTh - HIHOCTPAHHBIH SI3BIK B - HCTIOJIB30BATh 3HAHHE - ICJIOBBIM,
COBPEMCHHBIC KOMMYHHKATHBHBIC | 00beMe, HEOOXOJAUMOM Il | HHOCTPAHHOTO SI3bIKA B npodecCHOHATBHO
TEXHOJIOTHH, B TOM YHUCJIC Ha MoJTy4eHus: nH(pOpMaun npodeccrnoHaIbHOM OpPUEHTUPOBAHHBIM
UHOCTpaHHOM(BIX) s3bIKe(aX), sl | Mpo(ecCHOHATBHOTO NeSITeIIbHOCTH U UHOCTPaHHBIM SI3bIKOM;
aKaJeMHUYECKOTO COJICpKaHUs U3 MEKITUIHOCTHOM - HaBBIKaMU TIepeBO/Ia U
npo¢eCCUOHATBHOTO 3apyOCIKHBIX HICTOYHUKOB, | OOLICHUH; 001aaTh BeJIeHUs Oecell o TeMaM
B3aMMOJICHCTBUS - IPUEMBI U METOJIBI CIOCOOHOCTBIO K JICJIOBBIM | CIICIIUATBHOCTH, YMETh
nepeBo/ia TeKCTa 1o KOMMYHHKAIIHSIM B pacckasarb 0 CBOeH
CHEIHATLHOCTH, npodeccnoHaIbHON CHEeUATBHOCTH, CIIENIATh
- IPUHIIUTIBI cdepe, crnocoOHOCTHIO YCTHOE COOOIICHHE TI0
pedepupoBanus, paboTaTh B KOJIUICKTHUBE; COCTaBJICHHBIM TE€3WCaM HJIN
AHHOTHPOBAHUS U - M3JIaraTh YCTHO H AQHHOTAIIHH.
COCTaBIJIEHUE TE3UCOB; MMMCEMEHHO COOCTBEHHYIO | - HABBIKAMU MMUCHBMEHHOTO
- OCHOBHBIE COOTBETCTBHS TOUKY 3pEHHS Ha apryMEeHTHPOBAHHOTO
CUCTEM ITOATOTOBKH WHOCTPAHHOM SI3BIKE B U3JI0KEHUST COOCTBEHHOU
1 YK-4 CHEIHAMCTOB U HaYYHBIX 00JacTh CBOMX HAYyYHBIX | TOUKH 3PEHUS;

- HaBbIKaMHU MMPAKTHYCCKOIO
BOCTIpUATHS UH(POPMAIIUH;
- HaBbIKaMH
CaMOCTOSTENIbHON HAay4YHO-
HACCIIEN0BAaTEILCKON U
Hay4HO-TIeAarOrMuecKou
NeSITeNIbHOCTH;

- HaBBIKaMU
CaMOCTOSITENIbHOM pabOTHI
CO CIEUHAIIBHON
JUTEPATYpOU Ha
MHOCTPAHHOM SI3BIKE C
LEIbI0 TIOTyYEHUS
npodhecCuOHANBHOM
nHpopmauu.




uHdopmanuu;

- CaMOCTOSATEIHHO YUTATh
OPUTHHAIBHYIO
JUTEpaTypy IO
CIEIUATBHOCTU U OBICTPO
W3BJICKATh U3 HEe
HEOOXOAMMYIO
nH(pOpMAIIHIO;

- MOJIb30BAThCSI
ANEKTPOHHBIMHU
CJIOBapsIMU;

- IPUMEHSTH TOJTYICHHBIC
TEOPETUYCCKHUE 3HAHUS
IPUEMOB TIEpeBOIa Ha
NpaKTUKE.




KoHTpoubHbBIE 321aHUA M1 MAaTEPHAJIbI OLIEHKU 3HAHUM, YMEHHMH, HABBIKOB U
ONBITA eATEJIbHOCTH, XapaKTepU3youue 3ransl GoOpMUPOBAHHUS
KOMIICTEHIIUM B IIpOLiecce YCBOCHHS M CUMIINHBL.

Texkyumuii KOHTPOJIb
Tekymuii konTposib mo npeaMery b1.0.01 «MHocTpaHHBIH (AHTJIMHCKHA)
SI3bIK» TPOBOJUTCA Ha MPAKTUYECKHX 3aHATUAX. OH MO3BONSET PETYISIPHO
KOHTPOJIMPOBATh OLIEHUTh PE3YIbTAaThl OCBOCHUS Pa3/eiioB (T€M) MPEIMETA.
KoHTpob MOXET MPOBOJAUTHCS MMYTEM YCTHOTO ONPOCA WM MHUCHbMEHHOIO
BBITIOJTHEHHUS CTYJICHTaMU Pa3HOYPOBHEBBIX 3aJIJaHUI MO TeMaM IPOTrPaMMBL.

IIpakTHYecKkue HABBIKH.

Tekylmui KOHTPOJIb TEOPETUYECKUX 3HAHUM IMPOBOJUTCSA IIYTEM YCTHOIO
OmIpoca CTYIACHTOB II0 TEME IMPAKTUYECKOI'O 3aHATHS, BBIABJICHUS IPAKTUUYECKUX
YMEHUN IIyTEM BBINOJHEHUA AayJIWUTOPHBIX M JOMAIIHUX WHAWBUAYAIbHBIX
3aJaHUil.

Jloxknaabl
Jloknazn (cooOimeHne) — 3To MPOJYKT CaMOCTOSTEIbHOW PaboOThI CTYJICHTA.
Ilenpto HamucaHus JOKiIaaa (COOOIICHMS) SBISETCS PACIIMPEHHE HAYYHOIO
Kpyro3opa, 03HaKOMJICHHE C METOJO0JIOTHEH HAy4YHOro MOMCKa W HaIlpaBJIEHO Ha
dbopMupoBaHUE ClIeayOMUX KomneTeHui: YK-4

TemaTnka 10KJI210B

Mechanization of Agriculture; its history.

The Industrial Revolution.

Agricultural machinery types.

Top 10 tractor companies in the world.

History of agriculture in Russia.

History of agriculture in Great Britain.

History of agriculture in the USA.

Advantages and disadvantages of mechanized farming.
. History of Tractor Industry

10 Classification of tractors

©CoNoORWNE

Kpurepun ouenku:

- OLICHKA «OTJIHYHO» BBICTABIISETCS CTYACHTY, €CIIH:

1) 3aaHuE MOIHOCTBIO BBINOJIHEHO: TEMA PACKPBITA B 3aJaHHOM 00bEME;

2) JNOTMYHOCTH BBICKA3bIBaHMS COOJIO/IEHA: BCTYIUIEHUE, OCHOBHAsI MH(OpMAIH, 3aKII0OUSHHE.
CpencTBa J0ru4ecKoi CBSA3M aJIeKBaTHBI IOCTaBICHHOMN 3ajjaue U pa3HOOOpa3HblI;

3) peub NOHATHA: HE AOMYCKAET OINOOK, MPAKTUUYECKU BCE 3BYKU MPOU3HOCATCS MPABHIIBHO;

- OIICHKA «XOPOII0» BBICTABJISETCS CTYACHTY, €CIH:

1) 3a1aHuE BBIIOJIHEHO YaCTUYHO: TEMa PAacCKpbITa HE B MIOJHOM 00BEME;

2) JIOrMYHOCTb BBICKA3bIBAaHUS BIIOJIHE COOJIO/IEHA: BCTYIJIEHHWE, OCHOBHAs HWHGOpMaLus,
3axitoueHne. CpescTBa JJOrMYECKO CBSI3U aJIeKBaTHBI IIOCTABICHHOH 3a/1a4e, HO OJHOOOPAa3HBI;
3) peub NOHATHA: HE AOIMYCKAIOTCS OIIMOKU; MPAKTUYECKU BCE 3BYKH ITPOU3ZHOCATCS IIPABUIIBHO;



- OLICHKA «Y/10BJIETBOPHUTEJIBLHO» BLICTABIISETCS CTYACHTY, €CIIH:

1) 3aaHuE BBIIOJIHEHO YACTUYHO: TEMA PACKPhITa B OTPAHUYEHHOM 00BbEME;

2) NOTMYHOCTH BBICKAa3bIBaHUSI HE BIIOJHE COOJIIOJCHA: BCTYIUICHHE, OCHOBHAs WMH(pOpMAaIus,
3akioyeHne. CpeacTBa JIOTHYeCKOH CBS3H HealeKBaTHBI IOCTABIEHHON 3a7aue U 0JJHOOOpa3Hbl;
3) B OCHOBHOM pE€ub IOHATHA: HE [JOINYCKAaeT IpyObIX OMMOOK; 3BYKM B IIOTOKE pPEYH B
OOJIBIIMHCTBE CIIy4aeB IPOU3HOCUT IIPABUIIBHO;

- OLICHKA «HeYJA0BJIeTBOPUTEJIbHO)» BbICTABIIAETCS CTYJAEHTY, €CIIU:

1) 3a1aHue HE BBIIIOJIHEHO: TEMA HE PACKPHITA;

2) JIOTMYHOCTb BBICKAa3bIBAaHUS HE COOJIIOJICHA: BCTYIUIGHHWE, OCHOBHas WH(pOpMAIHs,
3akioyeHne. CpeacTBa JIOTH4eCKOi CBA3M HealeKBaTHBI IOCTAaBIEHHON 3a7aue U 0JJHOOOpa3Hbl;
3) peub MI0X0 BOCIPUHUMAETCS HA CIIyX M3-3a HENPABUIBHOTO ITPOU3HECEHNSI MHOTHX 3BYKOB.

IIpoMeKyTOYHBIN KOHTPOJIb

[IpenycmarpuBaeT TMpoOBEICHHE KOHTPOJIBHBIX pabOT 1O  3apaHee
OMpeNeNICHHbIM pa3fenaM. ['paduk mpoBefeHUs KOHTPOJBHBIX padoOT U
TEOPETUYECKUE BOIMPOCHI MO HUM JIOBOJATCS JO CTYJCHTOB B Hayajie y4yeOHOIo

Kypca.

Bonpocsl 1151 codecenoBanus
no aucuuiuiuie b1.0.01 «MHocTpaHHbIN (AHTJIMIACKHUI)

1. Why are farms able to obtain high yields of crops and animal produce today?

2. What agricultural processes are mechanized today?

3. What cultivating machinery do you know?

4. What harvesting machinery can you name?

5. What is the advantage of tractors power over the horse?

6. What can tractors be used on the farm

7. Describe a typical modern plow.

8. What is the function of the plow?

9. What are the heaviest cultivators used for?

10. Has the Diesel type engine got any electrical ignition?

11. What two parts can the fuel system of the Diesel be divided into?

12. What types of ignition do you know?

13. What happens when the fuel is mixed with air before compression?

14. What trouble is usually experienced in a cold engine?

15. What type of engine works at a large range of speed conditions?

16. Why do most engines utilize heavy-duty electrical starters?

17. What different functions are performed by the various kinds of lubricants used
in the tractor?

18. What are the three most common lubrication systems employed in tractor
engines?

19. What are the principal parts of an internal combustion engine requiring
lubrication?

20. When does oil offer strong resistance to the movement of the piston?

21. What causes the excessive rate of wear of the cylinders?

22. Is it essential to provide a cooling system control for air-cooled engines?



Kpurepun onenkn:

- «3a4TEHO0» BBICTABJISIETCA CTYACHTY, €CIM OH NPOSBUI 3HAHHWS OCHOBHOI'O NPOrPaMMHOIO
Marcepuaia, AOMYCTUJI HCETOYHOCTH B OTBCTC, HO 06HaﬂaeT H€O6XOI[I/IMLIMI/I 3HaHUAMU U
YMEHUSMH JUISl UX YCTPaHEHUs IPU KOPPEKTUPOBKE CO CTOPOHBI IPEerojaBaTes;

- «He 3a4YTeHO0» CTAaBHUTCS CTYIEHTY, Y KOTOPOro OOHapYXEHbI CYIIECTBEHHBIE NMPOOENbl B
3HaHUM OCHOBHOIO MaTepuaina, KOTOpble HE I03BOJIAIOT €My MpOJODKUTh oOyueHue Oe3
I[OHOJIHHTﬁJIBHOﬁ IIOATOTOBKH I1O0 I[aHHOfI TEMC IUCHUIIIUHEL.

KoMmuiekT 3aqanuii 1Jisi KOHTPOJILHOM padoThI MO JMCIUIJIMHE
b1.0.01 «AHOCTpaHHBIH (AHTIMHCKIH)

KonTpoabnas padora Nel
Tema: Koncrpykuus there is/are, Mecroumenuss some u any, Buno-
BpeMeHHbIe (GOopMBbI I71aroJia B AeHCTBUTEIbHOM U CTPAJATEJIbHOM 3aJI0raXx,
CymecTBuTe/ibHOE B PYHKUMH onpenesaenusi, UnpuHnuTus

Bapuanrt 1

I. Use the correct form of the verb in brackets in the active voice. Translate
the sentences into Russian.

1. The rate of reproduction and efficiency of all domestic animals (to increase)
since scientists (to begin) systematic studies in the 1930s.

2. At present farmers often (to replace) manure by commercial fertilisers.

3. Poultry also (to convert) feed efficiently into protein and (to provide) people
with white meat and eggs.

4. When Columbus (to discover) America, he (to bring) some new varieties of
plants and animals to Europe.

5. What animals ... people (to use) as draft animals in the 18th century?

6. The farmer (to provide) his livestock with all nutrients and (to raise) very
healthy animals last season.

7. Last week the farmers (to keep) swine on pastures which (to be) not suitable for
crop production.

I1. Put in some or any.

1. There are ... cows on the farm but there are no ... sheep.

2. Are there ... new departments at the animal husbandry faculty?

3. These animals do not need ... additional feeds in their rations.

4. It is necessary for ... farmer to have ... knowledge in farm management.

5. Did the farmers ask scientists for ... recommendations about the reproduction of
the animals?

6. There have been developed ... new sources of energy recently.

I11. Translate the words into Russian and identify the part of speech.

1. analyse, analysis, analytical, analyst;

2. special, specialist, to specialise;

3. science, scientific, scientist;

4. physics, physical, physicist, biophysics;



IV. Translate the word-combinations into English using the noun physiology.
bu3noNIornYecKue XapaKTEPUCTUKU, (bU3Mn0IOTHYECKHE byHKIMY;
@HSHOHOFI/I‘JGCKI/Ie CTaHOapPThI; (1)I/IBI/IOJIOI“H‘{€CKI/IG PCaKIu; (l)I/IBI/IOJIOFI/IIIeCKI/Ie
JAaHHBIC

V. Fill the gaps with the correct form of the verb. There may be more than
one variant.

to breed, to develop, to grow, to raise, to rear

. People ... farm animals for different purposes.

. Some farmers ... cattle to sell as beef, and others ... cattle to produce milk.

. Farmers usually choose breeds of hogs that... rapidly.

. Animals always ... well when they are on pasture.

. In the regions where farmers ... different grains they usually ... cattle.

. The children helped the farmer to ... young pigs.

. In 1850 American farmers ... four breeds of beef cattle.

. A little calf... better if it gets cow's milk.

. At present scientists ... a new variety of this crop for the northern regions of the
country.

10. On large poultry farms it is possible to ... thousands of chickens at once.

V1. Use the correct form of the verb in brackets in the passive voice.

1. Scientific conferences on the problems of animal physiology regularly (to hold)
by physiologists.

2. Experimental physiology (to develop) by anatomist William Harvey in the 17th
century.

3. Animal scientists hope that the results of their research (to use) by farmers in
practice.

4. The problems of domestication of ostriches (to discuss) in some scientific
journals now.

5. The new textbook on animal husbandry (to write) by the professors of our
University last year.

O©ooO~NOoO OIS, WN -

Bapuant 2

I. Use the correct form of the verb in brackets in the active voice. Translate
the sentences into Russian.

1. Last week the farmers (to keep) swine on pastures which (to be) not suitable for
crop production.

2. Why ... people still (to breed) livestock?

3. Modern agriculture (to rely) on engineering and technology as well as on a large
variety of natural sciences.

4. In recent years computers (to become) important for management of a farm.

5. What... the term "livestock™ (to include)?

6. Farmers (not/to know) much about nutrients in the 17th century.

7. What crops ... a farmer (to grow) for his animals?

8. For many centuries people in Africa (to breed) camels, but even now a white
camel (to be) an exotic animal.



9. Nowadays the weather greatly (to influence) agricultural production.

I1. Put in some or any.

1. There have been developed ... new sources of energy recently.

2. There are no ... special requirements for the use of these fertilizers.

3. Do you know ... exotic animals which farmers have domesticated lately?

4. ... crops grow well both in warm and cool regions of the country.

5. ... type of manure increases the yields of crops.

I11. Translate the words into Russian and identify the part of speech in
English.

1. physics, physical, physicist, biophysics;

2. chemistry, biochemistry, chemical, biochemical, chemist;

3. origin, original, to originate;

4. application, to apply;

IV. Fill the gaps with the correct form of the verb. There may be more than
one variant.

to breed, to develop, to grow, to raise, to rear

1. People ... farm animals for different purposes.

2. Some farmers ... cattle to sell as beef, and others ... cattle to produce milk.

3. Farmers usually choose breeds of hogs that... rapidly.

4. Animals always ... well when they are on pasture.

5. In the regions where farmers ... different grains they usually ... cattle.

6. The children helped the farmer to ... young pigs.

7. In 1850 American farmers ... four breeds of beef cattle.

8. A little calf... better if it gets cow's milk.

9. At present scientists ... a new variety of this crop for the northern regions of the
country.

10. On large poultry farms it is possible to ... thousands of chickens at once.

V. Use the correct form of the verb in brackets in the passive voice.

1. Such courses as organic chemistry and physics (to study) by all first-year
students at the Animal Husbandry Faculty.

2. Some characteristics of this cow breed (to study) carefully by the scientists at the
moment.

3. Different experiments on the processes of metabolism (to conduct) by the
scientists.

4. A plan for reproduction of the beef cattle on the farm (to suggest) next week.

5. Some manure (to spread) on this field recently.



KonTtpoabHasi padora Ne2
Tema: OcoOble ciiyuyan ynorped/ieHusi CTPaaaTeJbHOro 3ajora, Uungunurus B
Gynkuun odcrositesbcTBa, Ilpennoxenus tuna “It is +npuiaarareabHoe +
uHGuHUTHB”, BonpocurejbHble NPEAT0KEHUS B Pa3jJMYHbIX BpPpeMEHax B
AEHCTBUTEJIBbHOM M  CTpajaTejJbHOM 3aiorax, CrenmeHnm CcpaBHEHUs
NPUJIATaTeJIbHBIX M HApPe4uii, Ynorpeodsenue cjioB most, much.

Bapuant 1

I. Fill the gaps with the correct form of the verb. (There may be more than
one variant.) Translate the sentences into Russian.

to affect, to compose, to comprise, to consist, to consume, to contain, to ensure, to
involve, to manufacture, to supply, to support.

1. Very small amounts of the unsaturated fatty acid linoleic ... in some fats, but
they are necessary for growth and health.

2. A particular ration greatly ... by the feed cost (croumocts) and its supply.

3. Together with oils, fats ... one*of the three main classes of foodstuffs.

4. The biologically active fatty acids are referred to as the prostaglandins and they
... in very small quantities in animal tissues, but they ... in many vital functions,
such as enzyme activity in lipid metabolism, function of the central nervous
system, regulation of blood pressure etc.

5. As a substance, water ... of such chemical elements as hydrogen and oxygen and
it exists in gaseous, liquid, and solid states.

I1. Fill the gaps with the suitable adjective or the correct form of the verb,
active or passive:

To remain, complete, to evaluate, palatable, reliable, to obtain, to purchase,
digestible, to determine, relatively, to satisfy, comparative

1. Nowadays farmers are trying to ... the people's requirements in highly nutritive
products.

2. The ... analysis of the chemical composition of these two types of feeds has
shown that both of them have ... the same nutritive value.

3. Only... results are published in scientific journals such as Plant and Animal
Physiology.

4. When feeds are chosen for animals, they must be not only ... but easily ... as
well.

I11. Match the crop with its definition:

sorghum, corn (maize), wheat, rye, barley, roots, soybeans, oats

1. ... is the most important of the cereals in the temperate regions (peruossl c
ymepeHHbIM kiuMarom). It is used as food for people and feed for livestock. There
are two main varieties: spring and winter crops.

2. ... Is a common cereal crop in temperate areas, the grain is mainly used for
livestock feeding or for making beer by fermentation process.

3. ... is hardy (3sumocroiikas) cereal crop which is grown in most types of soil in
cool wet northern temperate regions, best quality crop can be used for making
biscuits, porridge.



4. ... 1s known as hardy annual grass (Mopo3ocToiikoe OJHOJIETHEE 3JaKOBOE
pactenume). It is grown in temperate areas such as Russia, Poland, Germany and
used for making brown bread and whisky.

IV. Use the correct form of the verb in brackets in the passive voice. Translate
the sentences into Russian.

1. Small amounts of iodine (to need) by animals for proper growth.

2. The farmer just (to offer) to invite the veterinarian in order to examine his
animals.

3. Any changes in animal feeding (to agree) on with the vet tomorrow.

4. Yesterday the specialist in animal nutrition (to ask) to give some
recommendations and he (to listen) to with great attention.

V. Use the correct form of the adjective or adverb in brackets.

1. Mother’s milk is (good) feed for calves and lambs. Various milk substitutes are
(little desirable) for new-born animals.

2. The northern regions of Russia are (little) suitable for crop farming than the
central regions. Thus, the farmers are interested in crop varieties that grow (fast)
and develop (good) under cold climatic conditions.

3. The mechanization of agriculture in some African countries is (bad) than in
Asian countries.

4. It was (difficult) to cultivate this new field than the farmer had thought, so he
did his work very (slow).

5. Carbohydrates are (iessential) nutrients in the feeding rations of ruminants and
some herbivorous animals.

V1. Translate into Russian paying attention to the words most and much.

1. These are the most interesting experiments on metabolism which have been
carried out in our laboratory.

2. Comparative studies have shown that neurosecretory cells are important in
development and regulatory functions of most animals.

3. Proteins usually contain about 20 different amino acids, but there are organisms
that require none, several, or most of them for growth.

Bapuant 2

I. Fill the gaps with the correct form of the verb. (There may be more than
one variant.) Translate the sentences into Russian.

to affect, to compose, to comprise, to consist, to consume, to contain, to ensure, to
involve, to manufacture, to supply, to support.

1. Nonruminant animals as well as man ... proteins mainly from animals and their
products, that is, meat, milk, and eggs.

2. Enzymes are substances that act as catalysts in living organisms and ... the rate
of biological processes within all living organisms.

3. Plants use the carbon dioxide in the air during the process of photosynthesis in
order ... organic compounds such as carbohydrates.

4. Water i1s vital to life as it...every process in living organisms.

5. It has been calculated that 6 mg of carotene ... adults with the necessary amount
of vitamin A.



I1. Fill the gaps with the suitable adjective or the correct form of the verb,
active or passive:

to remain, complete, to evaluate, palatable, reliable, to obtain, to purchase,
digestible, to determine, relatively, to satisfy, comparative

1. In order to ... the ... union for a particular animal, a farmer can use special tables
of nutritive value.

2. The development of new technologies may help to ... the quality of various feed
supplements at each stage of the production process.

3. On large-scale commercial farms it is possible for a producer to ... milk yields
throughout the year if high-quality feeds ... in necessary quantities.

4. In the Moscow region cattle may ... on pasture in winter season.

I11. Give the English equivalents of the Russian words in brackets. Put the
articles (a/the) if necessary.

1. It is cheaper to buy fertilisers in large (komuuecTBax).

2. Buffalo’s milk is produced in commercial (konmuecTBax) in Some countries,
particularly in India.

3. (Uucno) of cows on commercial farms vary from 100 to 120.

4. The farmer calculated the total (xommuectBo) which he needs to pay for a new
farm machine.

5. New technologies and improvements in animal husbandry, especially the
achievements in genetics may help to breed animals in large (xonmmnuecTBax).

IVV. Match the crop with its definition:

sorghum, corn (maize), wheat, rye, barley, roots, soybeans, oats

1. ...is the only grain crop which was brought from the New World and it is still the
principal crop in the USA where it is used as feed for cattle and pigs.

2. ...are plants which produce edible beans (cremo0ubie 60061) Which are high in
protein and fat content and are very low in starch (kpaxmain). Beans are used for
direct human consumption as well as livestock feed and for processing into oil.

3. ...Is a drought-resistant (3acyxoycroiuussiii) cereal plant which is grown in the
semi-arid tropical regions, it is one of the important crops in the USA.

4. ...are such plants as carrots, beets, turnips which contain food materials in a root;
they are used as food vegetables or fodder.

V. Use the correct form of the verb in brackets in the passive voice. Translate
the sentences into Russian.

1. The young farmer already (to give) some advice how to look after the animals
during the winter period.

2. The farmer (to explain) the reasons of possible animal digestive troubles.

3. The symptoms of the vitamin A deficiency in calves' rations (to describe) in
books on animal nutrition.

4. The results of the chemical analysis of feeds (not/to show) to the specialists yet.
5. At the moment the plan for farm reconstruction (not/ object) to.

V1. Use the correct form of the adjective or adverb in brackets.

1. Nowadays farmers use (modern) machines than five years ago and they can do
many farm operations (easy).



2. Some cattle breeds require (hot) climate for growth than others.

3. Farmers were interested in (cheap) fertilisers of (high) quality.

4. In southern parts of France, weather conditions are (favourable) for grazing
throughout the year than in Scandinavian countries.

5. Food, shelter and proper care are (necessary) requirements for growing farm
animals.

V1. Translate into Russian paying attention to the words most and much.

1. Most of the time was spent on the analysis of the physiological data.

2. Scientists spent much time on these experiments.

3. The new cow breed is much more productive.

4. Calves grow much faster if they are provided with proper nutrition.

KonTpoabnas padora Ne3
Tema: KonBepcusi, BuagoBpemeHHble (OPMBbI AHIVIMHCKOrO TIJIaroJia,
MoaajbHble IJ1aroJjbl

Bapuant 1

I. Rewrite the sentences in the active voice, where it is necessary, use the
words: a scientist, a researcher, a breeder, a farmer.

1. The planning of mating combinations was introduced in practice.

2. Animals are bred for utility, sport, pleasure, and research.

3. Horses are being bred for sport.

4. The breeding value of animals has been researched thoroughly by scientists for
different kinds of animals.

5. In the past, chickens were bred-for the combined production of eggs and meat.

6. It is necessary to judge young males that will be used for breeding.

7. Special studbooks are maintained by government record associations.

8. The most significant progress in animal breeding has been done with dairy
cattle.

I1. Rewrite the sentences in the passive voice.

1. Breeding procedures involve the application of several basic sciences.

2. At present, farmers are using different breeding programmes to improve their
herds.

3. Farmers started systematic recordings of individual animal characteristics.

4. Farmers will rely on the record of an individual animal's ancestors.

5. Animal breeders apply different mating systems.

I11. Fill the gaps with the suitable modal verbs: must, should/ought to, have to,
had to, is to. (There may be more than one variant.)

1. A farmer... separate a sick animal immediately from the other animals in the
herd.

2. A national breeding association... publish the official record of the pedigree of
purebred horses and dogs every year.

3. A breeder...eliminate any animal from a breeding programme if it is a carrier of
a gene for a serious metabolic or morphological defect.



4. During the recent decades some species of animals...move to new places and
adapt to new environmental conditions as people have destroyed their natural
habitats.

5. At the next meeting the United Nations Food and Agriculture Organisation
(FAQ)...establish some conservation programmes for domesticated livestock
breeds which are unpopular now and have become rare.

6. When breeding of purebred livestock began to develop rapidly in Britain in the
18th century, farmers...maintain a pedigree of each animal and later farmers...form
breeding associations in order IS control and maintain registration.

7. All animals and birds which .mx imported from foreign countries...be under
severe quarantine for some period of time to prevent the introduction of any
infections.

8. Ethnologists use various methods and techniques to observe the animals’
behaviour for longer hours.

9. A farmer...slaughter the animal if the analyses prove the infection.

10. Scientists...carry out many experiments before the animal cloning may become
a routine procedure in the breeding of farm animals.

IV. Identify the sentences where to be means «ao/xen».

1. New recycling water system is to be installed on the farm next week.

2. The purpose of the new recycling water system is to reduce the water pollution
in the region.

3. The feeding ration was to ensure the balance of all the necessary nutrients.

4. The problem was to choose the optimum feeding ration for the winter season
using the available farm feeds.

5. A large commercial company is to start producing nutritive supplements for
poultry by the end of the year.

KonTpoabnas padora Ne4
Tema: One, that, those kak 3amenuTenu cymecTBuTeabHOro; Ipocras popma
npuyactus I u npuyacrus II v ux pyHKUMH B aHIJIMHCKOM si3bIke; I'epyHauii

I. Translate into Russian paying attention to Participle I1.

1. The farmers discussed preventive methods recommended veterinarians.

2. The preventive methods recommended should help control the spread of the
disease.

3. The amount of nutrients consumed was calculated according to the tables of
nutritive value of different feed.

4. The amount of nutrients consumed by the cow was enough to provide complete
ration.

5. The problem of organ transplantation investigated of animals may help to carry
out the same operations on man.

6. Some animal physiological processes investigated are similar to human
processes.



Il. Translate the Russian word-combinations into English using the words in
brackets.

Model: xopormio otkopmiennsiii (to feed) — well-fed

[llupoxo wu3BectHhd (Wwell-); MenmmeHHo pacTymmii (to grow); XopoIo
ypaBHOBEIICHHBIN/cOaTaHCHpOBaHHbIN (to balance); xomomnokposHsIit (-blooded);
xopomio pa3BuThiii (to develop); mpocuuTaHHbIH/00ayMaHHBINH (to consider);
MEJIJIEHHO CO3peBaroluil (to mature); XOpOoIIo COACPKAIIUICS/COASpIKAIIMICS B
nopsizike (to keep); xopomro BeipakeHHbIH (to define); ckopocmenblil/paHHeCTIeTbIT
(early-): OpicTpo HaOmparommii Bec (to gain): BBICOKO KBaTU(PHUIIUPOBAHHBINA (tO
qualify); oGecniedennslii (to provide); 4MCTOKPOBHBIN/YMCTONOPOIHBIN (to breed)
I11. State the form of the Gerund. Translate these sentences into Russian.

1. Has he tried checking the oil?

2. The secretary asked if I would mind waiting for a few minutes.

3. | appreciated being invited to your home.

4. For many vyears, the banks denied having received deposits from criminal
sources.

5. Furious with his employees for turning up late each morning, the manager
decided to have a serious talk with them.

6. I'm tired of being treated like a silly fat lamb.

7. This happy events occurred without any recommendation having been made by
Rain borough, and indeed without his having been officially informed.

IV. Translate into Russian, paying particular attention to the use of the
Gerund. State whether the Gerund is active or passive, perfect or non-
perfect.

1. Choosing a present for that boy was not an easy matter for me.

2. On seeing the funny toy, the child burst out laughing.

3. A lot depends on your pointing out the mistakes at once.

4. Why don't you do the work properly without being reminded?

5. He doesn't like praising people too often.

6. He doesn't like being praised in the presence of his fellow-students.

7. The boy was blamed for not helping his school-friends.

8. The boy was blamed for not having helped his friend when the latter was in
trouble.

KonrpouabHasi padora NeS
Tema: Caoxnbie npemioru, 3HaueHue cuaosa which, beccoro3ubie
onpeaeJUTe]bHbIC NMPHUAATOYHBIE NpeatokeHuss, UnpuHuTHB B (PyHKIUU
noaiexamero, Ilpennoxenus tuna It is necessary that..., YcuaureabHast
KoHCTpyKuu It is...that

Bapuanr 1

I. Translate the sentences into Russian paying attention to the meaning of the
word which.

1. The wild ass, which when domesticated is usually called a donkey, was first
domesticated in Egypt about 3400 BC.



2. Only few cattle breeds have been used for improving the cattle herd during the
last century, which has resulted in the decrease in livestock biodiversity.
3. Agricultural research is a continuing process in which scientific information is
collected and studied.
4. The system of rotational grazing is widely used by cattle breeders as well as by
pig and sheep breeders, which helps to control diseases and parasites.
I1. a) Give the English equivalents of the words in brackets.

b) Find the sentences with the attributive clause with zero relative
pronouns.
1. Intensive husbandry conditions farmers are widely applying for the commercial
animal production include keeping large numbers of animals in small lots,
vaccination against diseases, as well rapid weight gains (mocpenctsom) highly
nutritious feeds at feeding growth stimulators.
2. (Kak u B cimyuae) other classes of farm animals, commercial producers of sheep
are concerned with maintaining a high percentage of lambing and with the utility
features of the animals and their ability to make efficient use of feeds.
3. (Ornocurensho) sheep feeding, sheep breeders know that animals are adapted to
subsist on scarce feeds, especially in winter time.
4. (B nonmonuenue k) feeding and management, wool product of sheep is greatly
influenced by climatic conditions of the region the sheep are bred in.
5. In selecting the fine-wool breed, farmers choose open-faced ewes (B mosb3y)
those that have any wool around eyes and on the face.
I11. Make up sentences using the following constructions: 1) It is necessary for
smb to do smth; 2) It is necessary that smb (should) do smth; 3) It is ...
that/who.
1. It is desirable/a farmer/to obtain 150—180 eggs per year/each laying hen;
2. It is impossible/poultry breeders/to ensure high and stable egg production/free
range system/in autumn and winter months;
3. It is recommended/poultry breeders/to choose the Leghorn or the Rhode Island
Red breeds/for egg production;
4. It is possible/breeders/to influence the future performance of laying stock/proper
chicks rearing.
IV. Find the sentences where should is the modal verb and translate them into
Russian.
1. If farmers keep poultry in confinement, they should provide proper light,
humidity, heat and ventilation.
2. In selecting a poultry breed it is important that the poultry farmer should first
consider the purpose of raising the birds, either table birds or laying stock.
3. Hatched chick should be kept in warmth as they are unable to survive long in the
normal temperature and chilled chicks often develop digestive disorders.
4. 1t is recommended that neither cracked nor too small eggs should be used for
incubation.
5. Cannibalism, which expresses itself as toe picking, feather picking, and tail
picking, should be controlled by debeaking at one day of age and by other
management practices.



V. Identify the sentences: 1) which are translated into Russian using the word
koTopkIii, 2) which are translated into Russian using the word uro6n1 3) in
which the word it is not translated into Russian.

1. To feed only grain to poultry is not economical because it cannot maximize egg
production.

2. The intensive system animal scientists have recently developed is widely used
on commercial poultry farms as it is more efficient in terms of saving labour,
however it is not the only system of raising poultry.

3. It is due to the intensive system that farmers are able to ensure complete control
of the birds’ environment, that is, temperature, humidity etc.

4. It is important that flocks should be more genetically uniform and it will result
in little percentage of culling.

Bapuant 2

I. Translate the sentences into Russian paying attention to the meaning of the
word which.

1. In developed countries the governments have adopted some laws on the welfare
of livestock animals which specify minimum conditions of care, housing, and
transportation.

2. Animal scientists are interested in processes how agricultural animals convert
feedstuffs into the food and other commodities which consumers need.

3. Comparative animal studies, which were of practical importance in the
discovery of some vitamins, led also to the general understanding of the specific
nutrient requirements of animals.

4. Historically, certain sub-professions within the field of animal husbandry are
specifically named according to the animals which are cared for.

I1. a) Give the English equivalents of the words in brackets.

b) Find the sentences with the attributive clause with zero relative pronouns.
1. All wool-type breeds differ with (otHocutensHo) fineness a length of the wool
fibres the sheepmen consider first of all.

2. (Kak pesynbrat) careful selection, sheep of the Corriedale breed are large and
vigorous.

3. (Beumy) of great differences in the nature of wool, the breeds may be grouped
into three main classes.

4. By performance in farm animals breeders mean the animal ability to produce (8
cootBeTcTBHUHM ¢) the purpose for which they are kept.

5. (Hecmotps na) the well-known breed characteristics a farmer should give
careful consideration to the selection of individual animals he is going to use for
breeding purposes on his farm.

I11. Make up sentences using the following constructions: 1) It is necessary for
smb to do smth; 2) It is necessary that smb (should) do smth; 3) It is ...
that/who.

1. It is essential/broiler producers/to choose types with excellent table
qualities/mature quickly;



2. It is required/poultrymen/pullets and cockerels/to separate/individual cages/at
the age of 8 to 9 weeks;

3. It is important/farmers/to feed broilers/high-protein and high energy rations;

IV. Find the sentences where should is the modal verb and translate them into
Russian.

1. If farmers keep poultry in confinement, they should provide proper light,
humidity, heat and ventilation.

2. In selecting a poultry breed it is important that the poultry farmer should first
consider the purpose of raising the birds, either table birds or laying stock.

3. Hatched chick should be kept in warmth as they are unable to survive long in the
normal temperature and chilled chicks often develop digestive disorders.

4. It is recommended that neither cracked nor too small eggs should be used for
incubation.

5. Cannibalism, which expresses itself as toe picking, feather picking, and tail
picking, should be controlled by debeaking at one day of age and by other
management practices.

V. Identify the sentences: 1) which are translated into Russian using the word
kotopsiid, 2) which are translated into Russian using the word 4uroe6sr 3) in
which the word it is not translated into Russian.

1. It is necessary to use artificial lighting and heat system in poultry houses the
farmer is going to use in winter time as it may increase egg production to a great
extent.

2. It has been shown that the energy requirement of the breeding hen does not
differ from that of the laying hen.

3. It is essential that the culling and selection of birds on the poultry farm to be a
continuous process, which means the removal of valueless birds from the flock.

4. To improve poultry strains, breeders use mainly crosses and hybrids that are the
product of two or more intercrossed pure types.

Kpurepun onenkn:

OIICHKA «OTJIMYHO» BBICTABJISIETCS ACIIUPAHTY, €clii padoTa BbIIIOJIHEHA 0e3 opporpaguueckux u
rpaMMaTHYeCKUX OLIMOOK;

OIIEHKA «XOPOIII0Y» BHICTABIISIETCS aCIITPAHTY:

a) ecnu B paboTe OTCYTCTBYIOT I'paMMaTHYeCKHe OLIMOKH, HO JIOMyIleHbl opdorpapudeckue
OIINOKH,

0) eciu OTCYTCTBYIOT opdorpaduueckre ommOKy, HO TOMyIeHb! 1-2 rpaMMaTHYECKUe OINOKY;
OIICHKA «yJOBIIETBOPUTEIHHO» BBICTABIACTCS AaCHUpPAHTy, €CIH B paboTe JOMyIICHBI
opdorpadpudeckue omuodku (10 5) U 3 rpaMMaTUYECKUE OMIMOKH;

OIIEHKA «HEY/IOBJIIETBOPUTEIHLHO)» BBHICTABIISICTCS aCIIUPAHTY, €CIH B padoTe He BBITOTHEHBI 50%
BCEX 3aJJaHUM, UM paboTa BBINOJIHEHA C TPYOBIMU IPAMMaTHYECKUMH OIINOKaMH.



KommuiekT 3aganuii 1151 KOHTPOJIbHOI padoThI
(camocTosiTeILHAsE padoTa)
o qucruiuinae 51.0.01. «MuocTpanubli (AHTJIHIHCKHAN) A3BIK»

KonTpoabnas padora Nel

1. 3akoH4YHuTEe MpeaI0KeHNsI, BHIOPAB NPABU/IbLHbIA BAPUAHT, NPUBEACHHBIH
HUIKe:

NoOakodPE

NogagkowodE

2

. Ile
1
2
3
4,
5
6
7
8
9

3. Ile
1.

2.
3.

N

The automobile i1s made up of ...

The engine is ....

The engine includes ...

The chassis consists of ...

The power transmission comprises ...
The running gear consists of ...

The body has ...

a power transmission, running gear, steering and braking systems

the clutch, gearbox, propeller shaft, final drive, differential and axle shafts
a hood, fenders and accessories

the engine, the chassis and the body

a frame with axles, wheels and springs

the source of power

fuel, cooling, electric and lubricating systems

peBeauTe NMPeAJIOKeHUsI HA AHTJIMIUCKHUI, UCII0JIb3YS HOBYIO JICKCUKY:

. JIBUTaTEIH — 3TO UCTOYHUK DHEPTHUHU.
. ABTOMOOUJIb COCTOUT U3 TPEX YaCTEH: ABUTATENs, IIIACCH U KY30Ba.
. XoJ10Bas 4acTh BKIIIOYAET B ce0s1 pamy € OCSIMHU, KOJleca U PECCOPBI.

Panuartop pacnoiokeH B epeiHel YacTu aBTOMOOWIIS.

. MaxoBHK KpENUTCS Ha 3aJIHEW YAaCTH JIBUTATEIIS.

. CueruieHue coeMHSET JIBUTATEIb ¢ KOPOOKOM Tepeaay.

. CuernyieHre ynpasiseTcs MeAanblo CICIICHUS.

. Kak nipaBuio, crieruieHue COCTOUT U3 ABYX JHUCKOB.

. CreruieHue pacmoIoKeHO MEXKy MaXOBUKOM M KOPOOKOM Irepe/iay.

peBeauTe NMpeI0KEHUsI HA PYCCKUM, HCII0/1b3ys HOBYIO JIEKCUKY

The chassis includes the running gear, the power transmission and the
steering mechanism.

The clutch connects the engine with the driving wheels.

The frame is a structural centre of any car as it provides support for the
engine, body, wheels and power-train members.

. There are two types of frames: conventional construction and unibody one.
. During the inlet stroke the inlet valve opens and a charge of fuel flows into

the cylinder.

. During the compression stroke the inlet valve is closed and the fuel is

compressed by the rising piston.



4. IlopOepuTe CJ10BAM M CJI0BOCOYETAHUSAM COOTBETCTBYIONIUIA MEPEBOI.

1. A friction device a. 3aBecTd aBTOMOOMIIb

2. Gearbox b. ®pUKIMOHHBIN TUCK

3. To start the car c. MaxoBuk

4. To release the engine d. M3uococTolikuit MaTepHan
5. Is fixed e. PaboTaTh BXOJIOCTYIO

6. Flywheel f. Coenunarbed

7. The friction disc 9. Pazpequnsarecs

8. The pressure disc h. Cuna tpenus

9. Hard-wearing material I. DpUKIMOHHOE YCTPOHCTBO
10. Frictional force J. HaxomuTbcs B TOKOE

11. The clutch pedal K. 3akperieHn

12. To be engaged |. Iemans cuermieHus

13. To be at rest m. Haxxare Ha niegaine

14. To be disengaged n. OTcoenuHUTH ABUTATED
15. To press down on the pedal 0. HaxxumHoi#t nuck

16. To run idly p. KopoOka mepemxau

5. 3akoH4YuTE NpeJI0KeHNsl, BLIOPAB NPABUWIbHBIH BAPUAHT.
Brakes are used for ....
Brakes are one of ...
Brakes may be of two types ....
Brakes are applied by ...
Brakes are applied when ...
The front wheels are on pivots so ...
When the steering wheel is turned ...
The steering wheel is linked....
Most manufacturers use ...
. Steering gear may be ....
. Steering knuckle arms and wheels are turned....

RHBoOooo~NoOTkWNE

= O

By the tie-rods

Rack and pinion type, worm and sector type
Gearing in the steering system causes the pitman arm to turn
Rack and pinion type

They can be swung to the left or right

By gears and levers to the front wheel

disc brakes and drum brakes.

the driver pushes down on the pedal.

the brake pedal.

stopping the car.

the most important mechanism of the car.

N T SQ o000 oW

6. IlepeBeauTe TeKCT.
Gearboxes are assembled and disassembled on special stands using special



mechanisms. In case of trouble in change-speed gearbox it can be repaired only in
the workshop. But in order not to get into trouble you should do the following

steps:

®o0 o

Check the oil level in the gearbox casing.

Wash the breather channel.

Change the oil in accordance with the lubrication schedule.
Wash the gearbox with a thin mineral oil.

Drain the used oil through the drain hole.

Kountpoabnas padora Ne2

1. IlepeBeanTe HA AHTJINICKUIL:

1.

MHorue  COBpeMEHHbIE  aBTOMOOMIM  OOOpPYIOBaHbl  OOPTOBBIMU

KOMITIBIOTCPHBIMH CUCTCMaMU IJIs1 ﬂqueﬁ pa60TI>I aBTOMOOMJIA.

2.

HporpaMMa TaKoIo YCTpOﬁCTBa HNMCCT TOJIBKO JBa 3allIOMHHAIOIINX

YCTpOﬁCTBaZ IMOCTOAHHYIO IIaMATh U OIICPATHUBHYIO IIAMSATD.

3.

HporpaMMa XPaHUTCA B IIOCTOSIHHOM MaMsTU KOMIIBKOTCpA.

2. IlepeBeauTe ¢ AHIIMIHCKOIO0 HA PYCCKHIA:

1.

N

o o

10.

The automobile must have great power for riding, have dependable clutch
and brakes, have good riding qualities, good lights, dependable starting and
ignition systems, low fuel consumption, as well as long service life.

Blinov designed and constructed tractor driven by steam engine.

The transmission has three forward and one reverse speeds. The lower gear
can be put in only when the front axle is engaged.

In passenger cars the engine’s water and radiator were used to cool the
brakes.

The diesel engine gets its power from the expansion of burning gases.

The V-type engine is called so as the cylinders form two rows or “banks”,
set at an angle to each other to form the letter V.

. Well-balanced, synchromesh gearbox, effective brakes provide additional

conveniences for the driver.

The first internal combustion engine light enough in weight was the gasoline
engine, invented by a German named Otto.

The first automobile built by Shamshurenkov, a Russian inventor, was put
into motion by the pedaling of the driver himself.

The passenger’s safety and comfort must be considered as much as the car’s
reliable performance and ability to travel on the highways.

3. BoiOepuTe npaBWIbLHbIN BAPUAHT:
1. Diesel oil is slower burning, but it produces more....
a) speed
b) power
c) voltage
d) steam



2. The automobile must have a...with special defrosting devices which insure clear
vision to the driver.
a) chamber
b) heater
C) insulator
d) clutch
3. Radar-controlled...are being studied now.
a) pressure disc
b) gearbox
c) brakes
d) axle shafts
4. The diesel engine depends on the...for ignition of the fuel.
a) generating peak heat
b) great power for riding
C) gas mileage
d) heat of compression

4. BpiOepuTe COOTBETCTBYIOIINIA MePEeBO/I CJIeXYIOIIHUX CJIOB:

1. Clutch a) JKugkoe TOIIMBO

2. Specific sequence b) IlnaBHas pabora

3. Steel body c) ITapoBoii nUTaTENH

4. Smooth operation d) Topmo3a

5. Steam engine e) CranpHOU KOpIyC

6. Ignition f) Cuerienue

7. Brakes g) 3axkuranue

8. Fire the spark plug h) BocmiameHsTh [9:15 ()

9. Gasoline engine 32)KUTAHUS

10. Liquid fuel 1) BeH3WHOBBII IBUTATEND

J) CrernanbHas

MOCJICIOBATEILHOCTh

Kpurepun onenkmn:

- OLIEHKAa «OTJIMYHO» BBICTABJISIETCS CTYAEHTY, €ciu padoTa BhIoJHEHa 0e3 opdorpadudeckux
U TPaMMaTHYECKUX OLINOO0K;

- OLIEHKA «XOpPOUIO» BBICTABISAETCS CTYIEHTY, €CIM B paboTe OTCYTCTBYIOT IpaMMaTHUYECKHUe
OIIMOKH, HO JONYIIEHbl opdorpaduueckre; WM OTCYTCTBYIOT opdorpaduueckre ommokH,
HO JIONYIIEHHI 1-2 rpaMMaTHYecKue OMMOKH (B 3aBUCUMOCTH OT KOJIMYECTBA 3aJJaHUI);

- OLIGHKa «YJOBJIETBOPUTEIBHO» BBICTABISAETCS CTYAEHTY, €clii B paboTe JOMYIIEHBI
He3HauuTeNnbHble opdorpaduueckue u 3-5 rpammaruyeckue OMMOKU (B 3aBUCHMOCTH OT
KOJTMYECTBA 3aJ]aHUI);

- OLIEHKA «HEYJIOBJIETBOPHUTEIHHO» BBICTABIISIETCS CTYACHTY, €CIIU B paboTe He BhIoyHeHb! 50%
BCEX 3a/1aHUs, WK paboTa BBIIIOJHEHA C IPYObIMU TpaMMaTHUYECKUMHU OIINOKaMHU.



5.

6.

DoHJ TECTOBBIX 3aJAHUM 10 TUCUHUIIJINHE
no qucuuiuinie b1.0.01. «MHocTpaHHDBI (AHTJIMHCKHUIT) A3BIK»

TECTOBOE 3ATAHHME Nel

. Kakoe pycckoe npeasioxkeHue cOOTBETCTBYET AaHIJIMHCKOMY MPe/IJI0KeHHI0?

The supply of steam lasted only 15 minutes.

a) 3anaca OeH3MHa XBaTajo Ha 15 MHUHYT.

b) 3anaca qu3eapHOrO TOIUTMBA XBAaTalo HA 15 MUHYT.
c) 3amaca napa xBarajao Ha 15 MUHYT.

d) 3amaca MOIIIHOCTH XBaTHJIO TOJIBKO HAa 15 MUHYT.

. Kakoe pycckoe npeasioxeHne COOTBETCTBYeT AaHIVIHHCKOMY MpeIJ10KeHHI0?

Details of design differ with make and size.

a) Jleranu y Bcex TpakTOPOB OJIMHAKOBBI.

b) Jletanu KOHCTPYKIIMH OTIUYAIOTCS IO TUITY U pa3Mepy.
c) Jleranu MammHbl OTIMYAIOTCS 110 TUITY U pa3Mepy.

d) TpakTopa OTJIMYAIOTCS 110 TUITY U pa3Mepy.

. Bbi0epuTe npaBUIbLHbINA NIEPEBO:

a front axle

a) pacrpeieuTeIbHbIN Ball
b) BBIMYCKHOM KJIarlaH

C) KOJICHYAThIN Ball

d) nepenHsisi och

. Bbi0epuTe npaBUJIbLHbIA IEPEBOJ:

flywheel

a) MaXOBUK; b) MOJIIMITHKUK; C) BEHTUIATOP; d) KpUBOLIUII
a) potato; b) cabbage; «c) table; d) carrot

Haiinure JulIHEE CJI0BO:

a) piston; b) cylinder; c¢) clutch;  d) chair

Bbi0epute cooTBeTcTBYIOIIYI0 hopMy riaroJia to be:
We...the first year students.

a)am; b)is; c)are; d)was

. BoiOepuTe npaBUIIbHBIN OTBET:

What is subjected to high pressure?
a) piston b) cylinder  c) piston pin d) linkage

. BecTaBbTe HYKHOE CJI0OBO:

... 1s often called the heart of the engine.
a) piston b) cylinder c) valve d)plug

. Bbi0epuTe npaBuIbLHBINA NEpeBO/: reciprocating motion

a) IpsIMOJIMHEHHOE BMYKECHUE

b) IpUBOAUTH B IBHKCHHUE

C) BpalllaTeIbHOE JBMKECHUE

d) BO3BpaTHO — MOCTyMNaTEIbHOE JBUKEHNE

10. Boi0epuTe npaBuJbHbIH nepeBoa: crankcase

a) kpuBomuIir, b) kaprep; c¢) kopmyc; d) mopiieHb



TECTOBOE 3AJIAHUE Ne2
1. 3anoIHUTE MPONYCK B NMPEIJI0KEHUH:
The...1s fully enclosed in an oiltight housing.
a) crankshaft; b) camshaft; c) power take off shaft; d)pump
2. Kakoe aHrimiickoe npeajioxKeHue COOTBETCTBYET PYCCKOMY NPeIJI0KEHUIO:
TpyOuaTsiii cTaIbHON Majiel KPEnuT NOPIIEHb K BEpXHEMY KOHITY IIaTyHa.
a) A tubular steel pin attaches the engine block to the upper end of the
connecting rod.
b) A tubular steel pin attaches the piston to the upper end of the connecting rod.
c) A tubular steel pin attaches the piston to the upper end of the crank.
d) The piston is attached to the connecting rod by a pin.
3. 3anoIHUTE NPONYCK B MPeEIJI0KEHUN:
He...have much money.
a)isn’t; b)don’t; c)doesn’t; d)aren’t
4. Onpenenure III ¢popmy raarosia: to mean
a) met; b) meant; c) meaned; d) meaning
5. Onpeneaure 111 ¢popmy riaaroga: to begin
a) begun;  b) began; c) beginned;  d) beginning
6. 3aKoHYHUTeE NpeNJI0KEeHUe:
In 1825 a steam engine was built in....
a) France; b) Germany; c) Great Britain; d) Italy
7. Kakoe pycckoe npeaJjio:keHue COOTBETCTBYET AHTJIMHCKOMY MPeIJI0KEHNI0:
The carriage was a great achievement but it was far from perfect and extremely
inefficient.
a) MamvHa Obl1a BETUKUM JTIOCTH)KEHUEM, COBEpUIEHHA U 3P PEeKTHBHA.
b) MamuHa Obl1a Aajieka OT COBEPILEHCTBA U KpaiiHe He3PPEeKTUBHA.
c) IlepBbie ManuHbI OBUTA COBEPIICHBI U AP(HEKTUBHBI.
d) Mammuna Oblia BETUKUM JOCTHXKEHHUEM, HO ObllIa J1ajieka OT COBEPIICHCTBA U
Kpaiine Her(peKTuBHA.
8. BoiOepuTe npaBUIILHBIN NepeBO/1: ignition system
a) CUCTEMa CMa3Ku
b) cucreMa oxnakaeHUs
C) TOIUIMBHAs CHUCTEMa
d) cucrema 3akuraHus
9. Boi0epuTe npaBuibHbIN nepesoa: drawbar
a) IWKUB; b) Koseco; c) nmpuBoa; d) HHKEKTOP
10. Boi0epuTe npaBuJIbHBIN NEPEBO/: JIETHPOBAHHAA CTAJIb
a) alloy steel
b) heat — treated steel
c) high — carbon steel
d) armored steel



TECTOBOE 3AJIAHUE Ne3
1. 3anosHUTE MPOMYCK B NMPeIJI0KEeHUN
The first self—propelled vehicle was constructed by the French military
engineer...in 1763.
a) Pierre Charles L’Enfant
b) Cugnot
c) Gustav Eiffel
d) Andrey Rublerv
. Bbi0epuTe NpaBUJIbLHbINA NepeBO/I: MOJAIMIUNHUK
a) bearing; b)gear; c)cam; d) gasket
. BoiOepuTe npaBuIbHBINA NepeBoa: valve
a) 3apsia;, b) kiaman; c) mckpa; d) peszak
. BoiOepuTe cooTBeTCcTBYIOIIYIO (hOPMY IJIaroJia:
Where...you from?
a) am; b)is; c)are; d)was
. BoiOepuTe npaBUIIbHBIN OTBET:
How many valves has each cylinder?
a) 2; b4, «¢)6; d)10
. Bbi0epuTe npaBUJIbLHBIN NEpeBO/: steam
a)Bojma; b)map; c)Oensun; d)kepocuH
. BoiOepure npaBuiibHbIN nepeBo/: to propel
a) 3aBOJIUTh; b) OCTaHABIWBATh; C)e€xaTh;, d) TOPMO3UTH
. BoiOepuTe npaBWIbHBIN nepeBo: connecting rod and crank arrangement
a) MEXaHU3M PACIPEICICHUS MOMEHTOB 3a)KUTaHUS
b) BO3IyIITHO — TOIJIMBHAS CMECh
C) KPUBOIIUITHO-IIATYHHBIA MEXaHU3M
d) Ban kIanmaHHOTO KOPOMBICTA
. Kakoe pycckoe npeaJio:keHne COOTBETCTBYET AHIJIMHCKOMY NPeIJIOKEHHIO:
The piston is attached to the connecting rod by a pin.
a) [lopiieHsb KpenuTcs K BaJly MaJIbIIEM.
b) KpuBommn kpenurcst K KOJIEHYaTOMY Bally.
c¢) [lopiiens KpenuTest Ko AHY OJI0Ka JTBUTATEIIS.
d) [TopiieHb KpenuTes K MATYHY MalbIEM.
10. Ykaxurte II popmy riarosa to write:
a) wrote;  b) written;  c) writes;  d) writing

TECTOBOE 3AJIAHUE Ne4

1. B kakoM npeaJio:KeHUN ciaeayeT ynorpeouts ¢popmy riaroJa to be B 3 auue

¢a. yucja:

a) The dog...in the garden.

b) I...hot.

c) ...Tom and Bob good football players?
d) Pupils...having a dictation.



2. 3ano0JIHUTE MPONMYCK B MPeAJI0KEHNH
What forms a reservoir for the engine oil in the internal combustion engine?
a) piston ring; b) housing; c) crankcase; d) sump
3. BbiOepuTe npaBUJIbLHbINA OTBET:
Where was a steam engine built?
a) in Great Britain
b) in Germany
c) in Russia
d) in Spain
4. Ykaxure II ¢popmy riaaroga to buy:
a) brought; b) bought; c) buying; d) buyed
5. 3anoyiHUTE NPOMYCK B MPEIJI0KEHUHN:
But the first...was constructed by the French military engineer Cugnot in 1763.
a) lorry
b) airplane
c) self — propelled vehicle
d) carriage
6. 3anoiHNTE MPONMYCK B NPENJIOKEHNH:
The crankshatft is the...shaft in the engine.
a) smallest; b) not very large; c¢) medium size; d) largest
7. 3anoyiHUTE MPOMYCK B MPeEIJI0KEeHNHN:
The upper ends of the cylinders are closed by the....
a) cylinder head; b) gasket; c) piston; d) hydraulics
8. Boi0epure npaBuiabHbIi nepesoa: flywheel
a) KyJayok; b) MaxoBHK; C) BEHTWIATOp; d) mIECTEpHS
9. BoiOepuTe npaBUiIbLHBbIN NepeBo/: to overcome friction
a) MpUIATh PAaBHOBECHE
b) onpenenuts KIT/]
C) YCTpaHUTh TPEHUE
d) ocymiecTBUTh CMa3Ky
10. Boi0epuTe npaBuJIbHbIN NepeBoa: piston stroke
a) TMOPIITHEBOE KOJIBIIO
b) xoa mopiHs
C) HMOPIIHEBOM 3a30p
d) moprrHeBo# masnei

TECTOBOE 3A/IAHUE Ne5
1. 3anosHUTE MPOMYCK B NMPeII0KeHUN
Each charge of...must first be vaporized and mixed with air.
a) solid fuel
b) liquid fuel
c) fuel — air mixture
d) gases
2. 3ano0JIHUTE NPOMYCK B MPeAJI0KEeHNH:
This is the factory where my father....



a) work
b) working
c) have worked
d) works
3. 3anoTHUTE NPONYCK B MPeIJI0KCHUM:
My elder sister...school in June.
a) finish;  b) finishing; ¢) will finish; d) have finished
4. Onpenenure HHPUHUTHUB CJEIYIOIIHUX IJIArojos: meant
a) to meet; b)to mean; c)tomake; d)to melt
5. Onpenenure HHPUHUTHB CJIEAYIOLIUX IJ1areJaoB: begun
a) to begin; b) to become; c)to bring; d) to buy
6. Boi0epuTe npaBwiIbHbIN nepeBoa: track
a) ryceHuiia; b) koneco; c¢)muHa; d) npokiaaka
7. Boi0epuTe NpaBUJILHBINA MIEPEBO/I: BaJ 0TOOPAa MOLIHOCTH
a) camshaft
b) crankshaft
c) power take off shaft
d) crankcase
8. Boi0epuTe npaBUIbLHBINA OTBET:
What determines the efficiency of the engine?
a) The portion of the heat changed into useful power.
b) The supply of oil circulating to all engine parts.
c) The supply of fuel.
d) The supply of solid fuel.
9. 3anoJiIHUTE MPOMYCK B MpPeIJI0KeHUH
The...is the largest and heaviest shaft in the engine.
a) camshaft; b) crankshaft; c) power take off shaft; d) crankcase
10. BoiGepute Hy:kHYI0 hopMYy:
My sister...in Moscow.
a) live; Db) living; c)tolive; d) lives

TECTOBOE 3AJIAHUE Ne6
1. BoiOepute Hy:xHY1I0 hopmy:
...your children study at school?
a) does; b)do; <c)are; d)is
2. BoiOepuTe npaBWIbHBbINA NEePEeBOA:
Piston is subjected to high pressure.
a) ITanen oka3bIBaeT JaBjieHUE HA TOPUIEHb.
b) ITanen moaBepraeTcs BHICOKOMY JABICHUIO.
c) ITanen noaBepraeTcsi CUILHBIM TOTYKAM.
d) [Taner moxBepraeTcsi CWIIbHOMY HarpeBy.
3. BoiOepuTe npaBWIbHbINA NEPEBO:
Further development of the motor cars was lagged.
a) JlanpHeiIee pa3BUTHE aBTOMOOUIICCTPOCHHUS ITPOIIBETAIIO.
b) JlanpHeliee Mponu3BOICTBO aBTOMOOMIIEH HE UMEJIO CMBICIIA.



c) JanbHelinee pa3BUTHE TSKEION MPOMBIIIEHHOCTH OBLIIO OCTaHOBJICHO.
d) JaneHeiiiee pa3BUTHE aBTOMOOMIIECTPOEHHUSI OBIJIO OCTAHOBIICHO.
4. Kakoe pycckoe npeayioxkeHne COOTBETCTBYET AHTJIMMCKOMY MPeIVI0KEHUIO:
James Watt built a steam engine in 1765.
a) Jlxeiimc BatT co3gan mapoBoii nsurareins B 1765 rony.
b) JIxeiimc BatT co3aan nepsiii camostet B 1765 roxy.
c) Jlxeiimc BatT co3gan nmepBwiit He60CcKkpeo.
d) Ixeitmc Bart nzo6pen Benocuren B 1765roxy.
5. BoiOepuTe npaBWibHbINH nepeBo: revolution of the camshaft
a) peBOJIIOIUSA
b) BpareHue pacrnpeaenauTeIbHOro Baia
C) TaKT paclpeaeaIuTeILHOTO Bajia
d) cmaska o moJIHBIM JaBIICHUEM
6. BoiOepuTe npaBWIbHBINA NEPEeBO/: pump
a) TOJIJIOH; b) pesepByap; C) Hacoc; d) npuBon
7. BoiOepuTe NpaBUILHBIN NepeBo/: to escape
a) BITyCKaTh; b) yneryuuBatbcs; C) CMEIINBATh; d) 3ameHsTH
8. BriOepuTe NnpaBWIbHBbINA MEePeBOA: 3a:KMMHBIH 00T
a) set screw; b) tire; ) retaining rings; d) clamp bolt
9. BbiOepuTe NpaBUILHBIN MIEPEBO/I: CTONMOPHBbIE KOJIbIA
a) piston rings
b) expanding rings
C) pump rings
d) retaining rings
10. Boi0epuTe npaBu/ibHbINH epeBoa: steel
a) kxene3o; b) cramp; c¢) cBuHen; d) meap

TECTOBOE 3AJIAHUE Ne7
1. BoiOepuTe NpaBWIbHBI NEPEeBOA: Zroove
a) BbleMKa, b) yrmybOnenue; c¢) kamepa; d) mommoH
2. BbiO0epute npaBuiibHbIi nepeoa: Exhaust of burned gases
a) BIIYCK CMECH
b) BIyckHOM Ki1amaH
C) BBIXOJ] TOTUIMBHON CMECH
d) BbIXOJ OTpaOOTAaHHBIX ra30B
3. IlopmHeBoO# maJjien HAA0 1eJ1ATh U3 CAMOI0 MPOYHOI0 MaTepuaJa.
a) Piston pin must be made of the worst material.
b) Piston mustn’t be made of the best material.
c) Piston pin must be made of the best material.
d) Piston pin must be made of solid plastic.
4. MaxoBHK c03/1aeT paBHOBecHeE /IJIs1 PABHOMEPHOii padoThl ABUTaTeJIsl.
a) Flywheel doesn’t act as a balance wheel to make the engine run evenly.
b) Flywheel acts as a balance wheel to make the engine run evenly.
c) Flywheel acts as pulley for running the engine.
d) Flywheel acts as a pump to make the engine work..



5. BeiOepuTe npaBWIbHBIN NepeBo] cjoBa “charge”:
a) kinanman b) 3apsag c) nopumenb  d) mydra
6. BoiOepure npaBWIbHBINA NEPEBO/ MOAYEPKHYTOIO CJIOBA:
The piston is attached to the connecting rod by a pin.
a) MmIaTyH; b) KPUBOIIMI, C) MOMIIUIHUK, d) MOPIIHEBOE KOIBIO
7. Onpenesure, KaKoe aHIJIMACKOE MPeEAJI0KeHHe COOTBETCTBYEeT PyCCKOMY:
Sl cTaHy MHKEHEPOM.
a) | am an engineer.
b) I shall become an engineer.
c) | was an engineer.
d) I would be an engineer.
8. BbiOepuTe npaBUJIbHbINA OTBET:
A tracklayer tractor must have:

a) four wheels; b) two endless tracks; c) two wheels;  d) a crawler
9. TaiiTe pycCcKHii 3KBUBAJICHT CJIOBY “engine”:

a) IBUTaTeJIb; b) maryH; c) kpuBomui,  d) KoJeHBal
10. Boi0epute BepHy10 ¢gopmy riaroJia:

She...now.

a) is working; b) works; c) worked,; d) will work

TECTOBOE 3AJIAHUE Ne 8

1. BeiOepure BepHy1o popmy rJiaroJia:

He can....

a) driving; b) drive; c) driving; d) drove
2. Kakoe pycckoe npeajioxkeHue COOTBETCTBYET AHTJIHICKOMY:
Farm tractor is the most popular type.
a) ['yceHnuHbIN TpakTOp HauboJIee PacIpOCTPAHCHHBIN BU/I.
b) CenbCKOXO035UCTBEHHBIN TPAKTOP HAauOOJIEe pacpOCTPAaHEHHbIN BU]I.
¢) CenbCKOXO3SUCTBEHHBIN TPAKTOP COCTOUT U3 JBYX I'yCEHHII.
d) ['yceHuuHBII TPaKTOP UCTIONIB3YIOT JIJISl TSAKEIONU PabOTHI.
3. BbiOepuTe NpaBUJIbHbI BAPDUAHT:
The engine must have:

a) pistons; b) valves;  c) crawler; d) wheels
4. Onpepeaure 3 ¢popmy ruaroJa to go:

a) goes; b) went; C) gone; d) going
5. Onpeaesure 3 popmy ruaroJa to tell:

a) told; b) tells; c) telling; d) tallen

6. [laiiTe aHIIMHCKUI IKBUBAJICHT CJIOBOCOYCTAHUIO «IOPIIHEeBas nanga».
a) pistonring;  b) piston clearance;  c) piston system; d) piston pin
7. Boioepure popmy Past Indefinite riaroaa to show:
a) show;  b) showed,; c) showing;  d) shown
8. Beioepure popmy Past Indefinite riaroaa to play:
a) played;  b) playing;  c)plays;  d) will play
9. laiiTe aHIIMICKNHA IKBUBAJICHT CJIOBY «IIOPLIEHb»:
a) crankshaft;  b) pin;  c) rod; d) piston



10. [{ajiTe aHIIMICKUH IKBUBAJICHT CJI0BY «MaX0BOE KO0JIECO»:
a) engine;  b) flywheel;  c) pistonrings;  d) connecting rod

TECTOBOE 3AJIAHUE Ne9
1. 3anosiHUTE MpOMYCK:
He...at automobile faculty last year.
a) will study; b) studies; c) studied; d) study
2. 3anoJIHUTE MPOMYCK:
The internal...engine.
a) conversion; b) compression; c) external; d) combustion
3. Kakoe aHI/IMiCKOe NpeIsIoKeHHe COOTBETCTBYET PYCCKOMY:
OH yexaJs1 Ha MPAKTUKY B NPOIIJIOM MECHIIE.
a) He go on practice last month.
b) He went on practice last month.
c) He will go on practice next month.
d) He is going on practice last month.
4. Kakoe aHrimiickoe npeajioxKeHne COOTBETCTBYET PYCCKOMY:
[TopiieHb pUKpEIUIsieTCs K MaTyHy Handoi.
a) The pistons are slightly smaller than the cylinders.
b) The movement of the piston pin is slight.
c¢) The piston rings attached to the crankshaft by a pin.
d) The piston is attached to the connecting rod by a pin.
S. BeiOepure npaBWiIbHBINA NEPEBO/ CJI10Ba «crawler»:
a) TyceHuIla;  b) KoJseco; c) Tpaktop; d) mopiieHb
6. Boi0epuTe npaBuIbLHBIN NepeBo] cjioBa «linkage»:
a) nBUTaTenb;  b) cuerseHue;  c) matryH;  d) KoJIeHBaJ
7. JaiiTe aHIIMHACKUI IKBUBAJIEHT CJIOBOCOUYETAHMUIO “ignition system”:
a) CUCTEMa CMa3Ku
b) cucrema 3axxuraHus
C) TOIUIMBHAs CHUCTEMa
d) cucrema gBurarens
8. Maiite II ¢popmy riarosa to go:
a) went;  b)gone; c)going; d)goes
9. Haiite II ¢gopmy ruaaroJia to bring:
a) bring; b) brought; ) bringing;  d) brings
10. BoiOepuTe BepHbIii epeBO:
Crankcase is one of the engine’s parts.
a) Kaprep — oJivH 13 yacTelt gBUraTers.
b) PacnipenBas HaXoIUTCS B IBUTATEIE.
c¢) [lopiiHyu NPUKPETUISIOTCS K IIYTYHY.
d) KonenBan siBnsieTCsl JETANBIO ABUTATEIIA.

TECTOBOE 3A/IAHHUE Nel0
1. PackpoiiTe CKOOKH:
Helen (play) the piano every day.



a) play; b) plays; c) played; d) is playing
2. PackpoiiTe cKOOKH:
Nick (go) to London last month.
a) went; b) goes; C) gone; d) go
3. PackpoiiTe ckoOKH:
Our group (pass) practice next summer.
a) passes; b) passed;  c) will pass;  d) is passing
4. IlonOoepute pycckuii IKBUBAJIEHT CJIOBOCOYETAHUIO:
“reciprocating motion”
a) [locTynarenbHOE IBUKEHUE
b) BpamarensHoe nBIKECHHE
¢) CmazouHas cucteMa
d) Bpamenue komuec
5. BoiOepuTe npaBuJIbLHBbIN MepeBo] ciaoBa “mechanical energy”:
a) MEXaHUYeCKasi SHEPT st
b) xuMHuueckasi SHeprus
C) IMHAMHYECKasi JHEPTus
d) ctaTuyeckas sHeprus
6. JlaiiTe aHIIMHCKUIT DKBUBAJIEHT:
«Kuakoe TonJinBo»
a) cylinder wall;  b) liquid fuel;  c¢) combustion chamber; d) engine oil
7. JaiiTe aHIIMUCKUI IKBUBAJICHT CJIOBY «BBIXJIOINIHOE OTBEPCTHE):
a) exhaust port;  b) exhaust valve; c) the inlet port;  c) the inlet valve
8. 3anoJiHUTE MPOMYCK:
The type of engine used to...the tractor is an internal combustion engine.
a) to drive; b) to work; c) to power; d) to mole
9. Kakoe aHI/IMiCKOe MpeasioKeHne COOTBETCTBYET PyCCKOMY?
Yy KaXXI0T0 NUJINHAPA CCTh IBAa KJIallaHa.
a) Each valve has two cylinders.
b) Each cylinder has two inlet ports.
c) Each cylinder has two valves.
d) Each cylinder has two exhaust ports.
10. Kakoe pycckoe nmpeayiozkeHue COOTBETCTBYET AHTJIMHCKOMY?
The crankshatft is the largest shaft in the engine.
a) KonenBan — camas OosbIiasi OCh B IBUTaTele.
b) IlnoTHOE coeaHEeHNE HEOOXOIUMO MEXKAY MOPIIHEM U HUIUHAPOM.
¢) o munuHApUYECKUM OJIOKOM HaxOJUTCS KapTep.
d) Ha kaxx11p1il mopIiieHs UCHob3yeTcs 00Jiee YEThIpEX KOJIEL.

Kpurepun onenkn:

OIICHKA «OTJIMYHO» BBICTABISAETCS ACIIUPAHTY, €CJIN OH NMPAaBUWIIBHO BhITONHKWI 10 3amanmii u3 10;
OLICHKA «XOPOLIO» BBICTABIISETCS ACIIUPAHTY, €CJIU OH ITPaBWJIBHO BBINOJIHMA 8 3aganuii u3 10;
OLICHKA «YyJIOBJIETBOPUTEJIBHO» BBICTABISAETCS ACIHMPAHTY, €CJIIM OH IPABWJIBHO BBITOJHWI 6
3amannii u3 10;

OIICHKA «HEYAOBJIETBOPUTEIBHO» BBICTABIIAECTCS ACHUPAHTY, €CIM OH IPABWJIBHO BBITOJIHWII
meHee 50% 3anaHuii.
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CoNOORODE

Kpurepuu oneHuBanusi 00y4awiierocs Ha 3adere

OrneHka TpeGoBaHUS K 3HAHUSM

«3Q4TEHOY BrimonueHs! Bee mabopatopHbie (mpakTuyeckue) padboTsl. [1o TeopeTndeckoii

(KOMTETEeHIINY OCBOEHBI) YaCTH €CTh MOJIOKUTENIbHbIE OIIEHKH (KOHTPOJbHAs paboTa, TECTUPOBAHUE U
p.)

«HE 3aYTEHO» NmetroTcst HEBBITIOTHEHHBIE (HEe 0TpaboTaHHbBIE) Ta00paTOPHBIE WIN

(KOMMEeTeHIINY HE OCBOCHBI) npakTudeckue paboTsl. [[poMexxyTOUHYIO aTTECTAIUIO He Mpoten (MOTydnI
HEYIOBJIETBOPUTEIHHYIO OIIEHKY Ha KOHTPOJIBHON paboTe, TECTUPOBAHUU U
T.J1.)




